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Section 1 - Paperl-English Language
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Read the passage and answer the questions that follow:

Fresh tomatoes received at a tomato processing plantcan
be turned into a variety of different products, one of which
includes ketchup. The process begins by washing the
tomatoes to remove any outer dirt and foreign matter from
the skin before processing. Upon inspection, damaged,
spoiled or unwanted tomatoes will be sorted out manually.
Tomatoes will usually be conveyed by water throughout
the preliminary stages to avoid bruising.After being sorted,
washed and chopped up, they proceed into large steel
vats for preservation/precooking and also to destroy any
bacteria that could be harmful to the rest of the processing
period as well as for the consumer after production. The
juice will be extracted outby a juice extraction system. The
outer skin, seed, stem, and fiber of fruits would be
separated from the liquid in a process known as pulping.
Once separated, the juice and the pulp from the tomato
get filtered and processed into ketchup. A smoother
ketchup consistency is achieved through more filtering
and screenings, weeding out any excess pulp. Ketchup
processing includes adding additional ingredients,
cooking, more screening and filtering, air-removal,
packaging and cooling. After juice filtration, additional
ingredients are added to the mixture to achieve the
desired taste and consistency. Some of the main
ingredients used to create ketchup include sweeteners,
vinegar, salt and spices, and flavouring. These additions
are usually integrated later on in the process except for
some spices added in at the beginning. Throughout the
entire process, the temperature must be consistently
monitored to make sure all the ingredients are being
added and appropriately absorbed. Air is then removed to
prevent oxidation, maintain proper colouring and inhibit
the growth of any unwanted bacteria. Before being
packaged, the ketchup is heated to approx.190 °F (88 °C)
to prevent contamination. After packaging, the bottles are
immediately sealed to retain the freshness and preserve
the shelf-life of the product. The final step is cooling the
product via cold air or water to maintain its
flavour.Different manufacturers will label their products
accordingly with all the necessary nutritional and other
legal information as required.

1) The temperature should be consistently monitored to
check if the

A) colour is properly maintained

B) ingredients are appropriately absorbed
C) pulp has been screened properly

D) ketchup retains its freshness

2) During the preliminary stages of Ketchup processing,
the tomatoes are transported using water to

A) loss of flavour

B) avoid oxidation

C) avoid bruising

D) avoid contamination

3) To preserve the shelf life of the Ketchup, the bottles are

A) passed through cold air
B) heated to 190 °F

C) oxidized

D) immediately sealed

4) The Ketchup is heated to 88 °C before packing to

A) inhibit unwanted bacterial growth
B) prevent oxidation
C) preserve natural colour

)

D) avoid contamination

5) To achieve the desired Ketchup taste and consistency,

A) tomatoes go through the pulping process
B) the juice is filtered

C) tomatoes are precooked

D) salt and spice is added

6) Which of the following options is incorrect?

A) Cat - Cats

B) Children - Childrens
C) Eye - Eyes

D) Dress - Dresses

Techofworld.In
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7) Select the correct option.

We got our son dog for Christmas.

A)

> Techofworld.li
C) the

D) no article

8) Choose the most appropriate similar meaning word:
NEUTRAL

A) Prejudiced
B) Involved

C) Predisposed
D) Unbiased

9) Select the correct form of verb from the given options.
I cricket every Saturday evening.

A) played

B) plays

C) would play
D) play

10) Find the most appropriate opposite meaning word:
EXPAND

v Techofworld
C) Embellish
D) Compact
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Section 2 - Paperl-Education and General Awareness
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11) Which of the following commissions stated, “Our
secondary education remains the weakest link in our
educational machinery and needs urgent reforms.”?

A) Secondary Education Commission
B) The Education Commission

C) National Knowledge Commission
D) University Education Commission

11) G @FARgee FQ &4 5AY SRelem 64, "2 Ja5e
NQER AR JRI 6208 IR UGS QER A6Lle 9a° 926a
ANINENS QIR QAR |

A) 6969811 YRR FAde
B) @ ugerae afae

C) UQeIn Qe aFide

D) gReds 1geads *Fde

12) To Undertake survey and studies relating to various

aspects of teacher-education and publish the results is the
function of

A) State Board of Teacher Education
B) National Council of Teacher Edcuation
C) Center of Advanced Studies in Education

D) National Institute of Educational Planning and
Administration

12) J9a-S00 @0R QAR AWINER UWW G ARIAGIER
2CRITE FEG| 8 TRITAGER IR REQI 6208 Q QIY
I

A) 639 6916 2T Toa IGERAR

B) cuain aeada 2 §oa 1geaaa

C) 6Q4@ 2T 2100148 853 a8 1g6ade

D) qyiaein @a8gie 2 1geadain QIF° 1a aefiteaas

Techofworld.In

13) The most abundant element in the earth’s atmosphere
is

A) Hydrogen
B) Argon

C) Oxygen
D) Nitrogen

13) 9291Q QIgNER6R 694 AUIRIR AF0IQ ZIR ARald?

A) agerR

B) aigie

C) aqgie

D) geqieale

14) Which part of Indian Constitution details the provisions
related to the Panchayati Raj Institutions?

A) Part IX
B) Part XI A
C) Part XI
D) Part XA

14) QGGG ARIGA 699 2°E6a ABIATAR AQAINYER
AAREQ GIAIR QTE?

A) 2ra IX
B) era XI A
C) zea XI
D) 2rg XA

15) In Section Five of New National Policy on Education,
1986, which of the following issues related to elementary
education were specially addressed?

A) Access, Enrollment and Retention
B) Meals, Enrollment and Retention
C) Access, Retention and Meals

D) Access, Enrollment and Meals
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15) HIQQIRN ORd 29 9g6ade, 1986 Q Il AIE6R, IR
JQ AHAG 69Q AAAIFER F68T VIS YRR FAUAIRMI?

A) QORI FINRINS 6231 G 2IRE
B) fiq, RIoe 6231 6 JIQd

C) gaqyal, §196 6 fn

D) qaaygl, ReIee 6291 6 &n
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Section 3 - Paperl-Reasoning
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16) In a certain code language, FISH is written as GKVL.
How is TUNA written in that code language?

A) UWQE
B) UVOB
C) ANUT
D) SSKW

16) 1@ QGa albwde @IS, FISH q GKVL 691R 6ndlian
I TUNA q 698 dicwEe QIFEa fem endide ?

A) UWQE
B) UVOB
C) ANUT
D) SSKW

17) The present ratio of the ages of David and Elan is 4 :
3 . After 10 years, the ratio of their ages will be 5: 4. What
was David's age (in years) 10 years ago?

A) 50
B) 40
C) 30
D) 20

17) 60818 99° QRIAT QEAIEA 0d 2gae 4:3 1 10 @d 96a

6201I9wa QOQ 2906 629 54 | 6Rea AA( @96a 10 (qF
G6% 6060 gl ?

A) 50
B) 40
C) 30
D) 20

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All the trains are ships.
Some flights are ships.

Conclusions:
1) All the trains are flights.
Il) Some flights are trains.

A) Only Il follows

B) Only | follows

C) None of the conclusions follow
D) Both I and Il follow

18) F604I9R1: 567 GRS A8:Y Jeq 78 Fd T2UARE |
21065 UAIRYQ 78947 AGY (IR AIFAIG AFQ Q3 § wal
QARIBGIEE FEIZKT FA0IR 6F 6LYIRAN 1 AN Fady 99
49° QIea §RE fag, SNl Fad AR 6REE ARIGEER
4IRS SAQ ARG KQER F12S4Yg OF QIS AFANE @98 |
F18QY: A9 665 g8 RIZIR | A8 QIRIRlr gFa RIRIRI

Gad:
1) A3 690 56 AOIRNIS |

1) 5T ARIFITIE 62R& 659 |

A) 629% |l 29904 F9g

B) saer | 2ga04a @og

C) 67led & GdIag 29908 @eg @I
D) @@9 | 9e° Il 29908 998
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19) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

All the strengths are threats.

All the weaknesses are threats.
Some opportunities are weaknesses.

Conclusions:

I) Some strengths are weaknesses.
Il) Some threats are opportunities.
IIl) Some threats are weaknesses.

A) Only | and Il follows

B) Only I and lll follows
C) Only | follows

D) Only Il and Ill follows

19) FELAIRRT: 06R SAUILIRYR N8N Jgq 78 A TS |
2T FARES| 18 ASY 611N AIRIIR U6 93 @ 9@l
ARIFEER RELJQI BAY0IQ B caIKIRAN | AN Fadq 96
49e° GI06Q 598 Gag, ARSI Fad FUQ 696G ARIREER
FEILSI GENQ PIRFINRI A2 F12QYg OF RIES ZQUQd K98 |
A82Y: A9 AN 6208 @Kl A9 QORI 6268 S99 1 58 Qsala
6998 QR70! |

fad:
) @8 Qe 6208 @IRall
Il) 98 Fod a8 geals

Ill) &% 90 6298 9999

A) 6aeR 1 99° |l U8 @eg |
B) 6ae@ | 98 Il 219904 /9g |
C) 6aan | 2908 209 |

D) 6ae@ I19e° Il 2Ga04 @ag |

Tachnfwnrld In

20) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.

A. B, C, D and E are sitting in a circular seating
arrangement. A is between C and D. Who among them
is in between A and E?

Statement | : E is sitting on to the immediate right of C.
Statement Il : A is sitting next to D.

A) 1
B) 4
C)3
D) 2

20) Q6aEIeqT BORNe 9g6a
1 590 @0g 99 6@eR (1894 | AIRIFI6E 96 289 F2AIQAQE
[

2 926 2613, 96 6a9R F189Y || A26QIF6R Ide 288 TR
dIQE |

3, 9T @@kl | 49° |l AL6QISER P40 Aan QIR TIE |
4, 9% 999 a9 6769 & FRIRIR AIGe QI |

A.B, C, D 42° E 60IRRIQ Q68 @@88 | C9e° D Ad6a A
Q@R |

A ~I6° E 712169 68QF1I6R 218G ?
a8y : C QIEl§ aIsg wiG Q8 E |
a29Y Il : DQ AIgea A 48|

A) 1

B) 4

C)3
D) 2
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Section 4 - Paperl-Teaching Aptitude

[echofworld.In

21) Which of the following statements is FALSE with
reference to Teacher-centered approach to learning?

A) Student learning is measured through objectively
scored tests and assessments

B) Teaching and assessment are viewed as two
separate entities

C) Student learning is continuously measured during
teacher instruction

D) Teachers are the main authority figure in this
approach

21) GIRGe MQIQ 699 G99 JYQl AR J9Q 6950 QEERId
Q0e6a @ (FALSE) 21667

A) gig dgel @ @ceaugdd CIRE B RRE FRIFER
QIR

B) §94 6 JRIISE § 9AF @7 §f 9°I RU6a 6Q%IKIREII

C) g gl 6aal ArL6ea 818 & JYQl § FAIGe AW F1KI
QIR

D) 4@ Q&6aI5160 9% Q8 QLI 2GF

22) Which of the following is one of the explanations for
UEE?

A) Universalization of Elementary Education
B) Universal Educational Executive

C) Universe for Education Executive

D) United Education Executive

22) FORYS AR 6996 GRR Q SIS R6Q ?

A) glafie dg1e A9ea1aad
B) aiegqia dal geae
C) a1 gees Aisl 9L

)

D) arge diml geee

Techofworld.In

23) A child creates his own concepts and knowledge
based on the information he gets from outside sources.
This means that he learns through the method of

A) rote learning

B) creation of knowledge

C) memorization

D) construction of knowledge

23) @66 auigl QIZIQ ALQ IF G2 2RIGER FFR ARG G
812 98 Q6 1 42IR 2E 62 69 A8T6R AYE ?

A) caide

B) @I 6ga @a<l
C) 9od gl

D) &1e 608 QdiQl

24) As per the University Grants Commission Act, 1956,

the Commission shall consist of a Chairman, a Vice-
Chairman and

A) Ten other members
B) Eight other members
C) Nine other members
D) Eleven other members

24) QYRR 2G91R KFEIF ZIRR, € ¢ 8 QU GTEF K68
2P, 966 QARIY 9L° QI2Ig 659 900 6291 /R

A) 204 @4 98 ALY
B) 21e4 2110 @6 @y
C) ey G2 @8 qaay
D) 26y 90Ia @é 9oy

25) Input-rich communicational environments are

essential for language learning. Inputs include all of the
following options EXCEPT

A) Text books

B) Research material
C) News papers

D) Class libraries
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25) QRgF-egR 6QIIEAINgY aGesqee @ISl Sl ARl

AINER | ARYSYERER AAUQ AN LB @F 69RE
2898 g6L7

A) QoY gee
B) qiceag aie1g)

C) glaaaiee
D) egan aioiqia

26) Which of the following options is INCORRECT with
reference to the development of negative traits in students
due to the long term and insensitive use of corporal

punishments in schools?

A) Fear and anxiety

B) Higher academic performance
C) Social misconduct
D) Loss of interest in learning

26) SQUIRLER QYRR QTG Y 2AGARRETR IR

294 RIed 6y FWENIAT FUER IR RITA TR
QARE6Q FIFRIQ 609 3985 gm 2667

A) Q2 98° L9
B) aeeq d9196 gode
C) anda gaieia
D) ai0agisa 9F 2QIas!

27) Which of the following options is INCORRECT with

reference to the objectives of education suggested by the
Kothari Commission?

A) Increase in productivity

B) Developing social, moral and spiritual values
C) Promoting social and national Integration
D) Introduction of physical education in schools

27) G6¢]19 FUQ 609 FREGE 6QI0INT RTER TRl AGEFIAR
QARSI FAIQ A 2INER P2

A) aqeasl 98

B) ainige, 6569 1e° kIR (I Q14
C) aqige 9e° e1019 A°25q 69IATC /a9l
D) gmee Siaioe JaIQ 2Iaw

WtsApp/Call- 8596976190

28) Which of the following options is a non-formal
educational movement with training methods based on
Law and promise, Learning by doing, and Patrol System?

A) Mass Media

B) Scouting and Guiding
C) Newspapers

D) Library System

28) Qerlia GRE FUQ 6996 IR 6RIUPRR J8I G99 AT

SIRF OR% G 9e° JTgs, @09l FIal di8l 9e° FIas QIel
2RIGS?

A) Q& Ut

B) aia6° 16° 9IeG°
C) aqieag

D) cioigia Q=9

29) The Maths teacher observed that inspite of making
Radha practice again and again she would soon forget the
method of doing the sum. She was good at other subjects.
Soon the teacher realized that Radha suffered from

A) Dyslexia

B) Dyscalculia
C) Dysgraphia
D) Dyspepsia

29) Jdie dRe MBY GEm 64 QARIIP VIGLIR AT KAV A6
64 F1816 980 €19 PR RS 1 6d AR FALAIPTER OR FGF |
QI 69RLJ6a C1E0 &al aeg 419 SRR ?

A) Gasagl
B) Sacmamsy
C) sagidai
D) Gasaada

Techofworld.In
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30) Which of the following statements is INCORRECT
with reference to maximizing learning and teaching time
in a classroom?

A) Have an organized plan if your planned lesson for the
day runs short or you need to fill time

B) Write learning objectives, problems and examples on
the board, flip-chart paper, before the class begins

C) Lesson plans should be fixed and followed very rigidly
under all circumstances for maximizing learning

D) Lesson plans should be well-designed and they
should provide clear learning objectives for students

30) 68411926 JYR I9° AQIRQ A AR ALWER FYFRIQ
609 ABF QM 26S ?

A) 9@ Q0100 6QIRR! QYS! I3 6969 0@ JIR 2ITEIT 6AIRE
QAR QAIOIFE ¢ AFAN 22! AINET AND Axe
QAR QAR AEL |

B) 64611 2102 gRQ 2ILAA 6Q16 AUER I FA-GIF 609 6Q
QEREN, 2AYI 9° ALITRE ERYS!

C) 2:190q QLIRS O 4918 ARGER AICIFAYRR F&8a 624!
QGG IQ° QZC R60IQ QINER AFAAE FAULDR QTS |

D) Q104691969 aneieea GeIRe QaIdel @80 9e° dyIdIw
dIQ 2RIZE QRN IR VA GRS AT |
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31) QaQ+ea = ?

A) 9eaq
B) qgeen
C) geca
D) 9eqea

32) ' QUGG ' - 92 604 X1 G688y ZI6T ?

A) QG Qo9
B) ol Qle@
C) Gall alow
D) og qlow

33)' Q' @ FAQIG 9 FIRYS AR 676G ?

A) Ziaaal
B) qi&
C) seqeal
D) eiqal

34) 609 @9 99 A QI F6ATY IR AR FR 90T
6212 | QIPIq QIAN ?

A) QI8 1Q QG
B) sgagiidie Fei
C) anidal Gau
D) aax Gau

35) GORYE FIQ 6R66 ‘AR’ IRQ FAQIe ACEIRIR §R ?

A) geg
B) d&
C) @@
D) goa

echofworld. ™

36) ' UGR @6 - M0I6R 'S FT 696 AT Q6T NS 62IRE
?

37) 9I9G G 9Re QIR AG9R | 6adIRG daT @ 9aIa S689d
Q4 ?

A) oI
B) ziqgl qiea
C) aGaig qiea
D) aeeifi@

38)
'aoIg ' ¥ adye Quene adq

QIAN? g4 QI8 g
daq?

A) oIRgy o Quae
B) qd quee

C) 69 Q¢ Qe

D) ziqely a4l quare

39) FORYS FIQ 6948 ‘AdIl 4ea FORIG 99 ?
A) 2iargd

C) agd

)

B) 2@
)

D) ag
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40) ‘9698 621 QETa &g @& ?

A) 2153693

B) ageo 624!
C) QQQIe @aQ!
D) 2@ @R @&3!

41) FIRGYS FRIQ 676G IR FAILIR 9& ?

A) ga4 adiel

B) 216 @s0a<!
C) Qag e ARl
D) zom qg e

42) ‘90II6RI28 910G 669 F6a G100 62108 ?
A) Gadl aF

B) ga ad

C) o8¢

D) quae ad

43) ‘Gd%’ 9060 690 AUANE QEE ?

A) ag
B) &q
C) s
D) &

44) RGO AUQ 6746 ‘2GR’ 99 ATde 99 ?

A) aie
B) cige
C) a@e
D) gqe

45) Q7@ @ 60i6ea 6 241G 90 ATR | ARG 405 6ae
69610 12 26T ?

A) 6 @9
B) 6xae
C) 2iaat
D) aidt
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46) What is the side of a square, whose area is equal to

48) Kiran has 30 books, 18 of which are written by author
the area of a rectangle whose length is 20 cms and

A and 12 of which are written by author B. Raghav has 20
breadth is 5 cms? books of the same two authors. If the ratio of the books
written by author A to books written by author B is same
A) 10 cms for both Kiran and Raghav, then how many more books of
B) 5 cms author B does Kiran have than Raghav?
C) 15 cms A) 2
D) 20 cms B) 5
C)4
" v T D)3
46) 9@ Qo 912 6AGTR 20 6471 69¢lY B 5 64 g1 Q@4 Iq
IGOEILR 6JQT QAT AR, CITIR QY ER6L 68Q7
R 48) @9 UIeq 305 9F 2E, 64 Ag 18F smaa A e 12§
A) 10 69 6REQ BE 910l YS! AINSEE AFIR @R 6RSeEE 205 Q2 2F |
B) 5 6af 3 QO Q4 98° QST AISER NG A 9Q° 6ASIR BF FIRl
C) 15 e9d nYe Q& QOIR AGAILER AT 6061 GAE IR AU PRFIER
D) 20 e¢ 6nGa Ba T101 AYe 6960 319 oF 2@ &8 ?
A) 2
(0.05)2+(0.31)2+(0.075)2 B) 5
47) The Value Of i.:G.DDSI):+>:D.031'§l:+l‘:[).0[’75 )2 |5 C) 4
A) 100 D)3
B) 10.1
C) 10
D) 100.11 49) If the side lengths of a square are doubled then the
area of a square
A) remains the same
(0.05)2+(0.31)2+(0.075)2 : ;
JE0.005)'-'+(D.031):+|.'0‘0D75J= Qa0 coad B) increases by 8 times
47) ' - Ll C) increases by 4 times
D) increases by 2 times
A) 100
B) 10.1
C) 10 49) 93 QC6RGA 019 674 §IHG 296669 QTEHRA 6AGTR
D) 100.11

A) aqIe Q62

B) 8 g& 9& amaird
C) 4 ga 9& aimaa
D) 2 ga 9f amaid
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51) @a6 I°HIQ GETR 1452 99° 64FIGEA .49 111 @&
50) ERIGR Y 696%

A) 4

B) 1

(3x +20)° / (x +20)° ©)2
> D) 3

In the given figure, the value of ' equals to

L.

52) If 2x/10 + y/5 =1 and 3x+ 2y = 12, then the values of

A) 55 X, y respectively are
050 M 23
D} 35 B) 2,4
} C)25
D)26
50)

52) 9@ 2x/10 + y/5= 1 and 3x + 2y = 12, 696% X, y @ ¢Ja

Qelges
A) 23
(3x +20)° / (x +20)°
. . B) 24
A : C C)25
FEUARYS TR X' Q Y QEe QAR 26T | D) 26
A) 55
B) 4 53) What is the least number if the double of that number
0 be exactly divisible by 6, 15, 21 and 25?
C) 50
A) 196
D
)35 B) 630
C) 525
_ _ D) 160
51) The product of two numbers is 1452 and their H.C.F.
is 11. The number of such pairs is
A) 4 53) 604 997¢ Qe §98I© 6291 U6 6, 15, 21 9e° 25 FIal
B) 1 agd QI9E0 FRISY?
C)2
D)3 A) 196
B) 630
C) 525
D) 160
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54) If 65% of a number is 42 less than four-fifth of that

number, then the number is

54) 9@ 6Q1618 Q°FHIQ 65% LR Se- IS Ol 42 Q¢ 636
8 AN 6268

A) 140

)

) 300
C) 280
D) 200

B

55) A sum of money doubles itself at compound interest
in 5 years. In how many years will it become 8 times?

A) 15 years
B) 18 years
C) 10 years
D) 20 years

55) 69IGM Qi 9998 QIER 5eF6q FIIC T4, 696Q 6R6%
Qdi6a 12l 898 6297

A) 15 Q¥
B) 18 a9
C) 1049
D) 20 a9

56) If set A has 3 elements and set B is a null set, then
how many elements will be there in their intersection set?

A) Three
B) One
C) Zero
D) Two

56) 96 6Q6' A @ 3 @ QAICIR IF G 69 B Y@ ¢ 629, 6662
EAFINE 689 69560 6m6510 ATIQIG QEa?

A) &8
B) ve
C)ge
D) qa

57) If U={1,2,3,4,5)}, R={1,3,5}, S={3,4,5}, T={2,4}, then
Rnsm’is

A) {24}
B) {1,3}
C)e

D) {3,5}

57) @@ U={1,2,345}, R={1,3,5}, S={3.4,5}, T={2,4}, 606Q
RNSNT 6208

A) 2.4}
B) (1.3}
C)o

D) {35}

58) If (x+y) : (y+z) : (z+x) =6 : 7 : 8 and x+y+z = 14, then
the value of z =

A) 6
B) 7
C) 14
D)8

58) Q& (x+y) : (y+2) : (z+x) = 6.: 7 : 8 4Q° x+y+z = 14, 6069
Z QO 6998 =

A)6
B) 7

C) 14
D)8
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59) If (2/3)a = 54, then the value of 'a' equals to

A) 90
B) 81
C) 72
D) 18

59) @ (2/3)a = 54, 666Q 'a' @ FAY QAR

A) 90
B) 81
C) 72
D) 18

60) Find the radius of the base of the cylinder, if its volume
is 1,03,488 cm® and height is 42 cm

A) 33 cm
B) 32 cm
C)30cm
D) 28 cm

60) 9% 9@ dRda @ A9 1,03,488 6Q¢1° 8 awwl 42 644 &I,
6069 QI2IQ 699 @ ZF QA § LR FAG!

A) 33 69
B) 32 6ad
C) 30 62
D) 28 ead
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61) The famous astronomer Galileo Galilei was born in
which of the following countries?

A) ltaly
B) Greece
C) France
D) Germany

61) FARYS FIQ 6065 AIRGBEA 694 gal / 9de G086 F@IaT
ARG UQ 6RR 694 6Q TG 6RAYEN?

A) QgIR1
B) gia
C) gig
D) gelie1

62) Where did Tebhaga movement take place by kisan
sabha?

A) Bengal

B) Delhi

C) Karnataka
D) Hyderabad

62) GYIQ AN FIA 6GRIG 61N 6200163 EQER 62IRGMI?

>

o8}
‘9}

Cc

) @
)
) qdlige
)

D) clogi@

63) What is the length of 1°of latitude (a one degree arc of
a meridian) at the equator?

A) 115.6 km

B) 120.7 km
) 110.6 km
)

111.7 km

Cc
D

63) 399 69l FREEQ 12TIEa QA 6969 621NN (AR
608iia 1 591 9l §063)

B4) Which of the following kingdoms was well known for
its pearls?

A) Rashtrakutas
B) Cholas

C) Pandyas

D) Cheras

64) G6rlIB F1IQ 699 QIFY ILIQ 671 AIR TS J?

A) qiags
B) soi
C)
D)

e
eaal

65) Which of the following schedules of the Indian
Constitution deals with the Urban Local Government?

A) 11th Schedule
B) 13th Schedule
C) 10th Schedule
D) 12th Schedule

65) QIagia AfMIe @ GORYe 2990 FUQ 6995 Aea1 AIRTS
AR VTS AFFG 26G?

A) 1169 2996
B) 13e¢q 2998

)
)

C) 1060 293G
)

D) 126a 298
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66) Who among the following described that the "Indian
Constitution is first and foremost a social document"?

A) HamVille

B) Abraham Ville
C) Granville Austin
D) Graham Ville

66) F6IBAIRT F2IQ §4 “AUNG1E AFIIF GEI6F 4e° ASI6E 1@
AAIRE QLIS 6917 Q4RI adeleR?

A) Qie| G@em

)

B) augie @em
C) gixiiem a8g
D) gieq &em

67) Which of the following dominant gases are found in
upper Themosphere?

A) Atomic hydrogen
B) Atomic oxygen
C) Carbon dioxide
D) Argon

67) G6AIR AR 6@AS ROa 26ARAG6R Y ¥ WA
Fi@eirg?

A) JKIER Q9RIR
B) aqqig&e 2agie

C) qI9e QRegiee
D) engie

68) Which of the following are the guidelines, which give
more focus on development and welfare of Nation in
social, political and economic aspects?

A) Directive Principles
B) Fundamental Duties
C) Fundamental Principles
D) Fundamental Rights

68) F651ID AR 699 AINGERI §FR 69460 AFIFS, AINETTR
99° 28R Goi6a G914 S° aRYIE FR6R TS IR 6aRRIN?

A) Gewdo G
B) 6cl@@ aaiqy
C) 6dlaa deig
D) ¢M@e 2laiqia

69) Who among the following was the founder of the
Mughal Empire in India?

A) Aurangzeb
B) Babur

C) Akbar

D) Jahangir

69) F6rlI8 A & QLSS 6AITR AIFINIQ gETIe! gem?

A) Bease
B) qleq

C) z1@ea
D) qigigra

70) What is the name given to the horizontal lines drawn
in the east-west direction on the globe?

A) Latitudes
B) Longitudes
C) Meridians
D) Grid

70) QSRR Q1 6QI] 66 g9R 98 QOg TG 6RINYQ
609IAFE] 699 AT FUCTIRS ?

A) aEraage

B) qidaiaqe

C) pulea sasliaga
D) g1@
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71) Which of the following countries was separated from

India as result of the Government of India Act, 19357

A) Bhutan
B) Ceylon
C) Aden

D) Burma

71) GARYS FRIQ 696! 696 ARG RN JFAA 1935 @

JBEI9QC NG Q ARG CRIRLIRYMI?

A) EI]
B) dioag
C) 260q
D) a¢ii

72) Jhabua district of Madhya Pradesh is a famous

example for which of the following resource conservation
efforts of man?

A) Conservation of mineral resources
B) Reverse land degradation

C) Prevention of soil erosion

D) Conservation of wildlife

72) QlIgELEa K198l GR, AgeY 919l 9ailfe
QAIgIa. JIGAQI 634 AR @ UGG AULRE A6T?

A) @die aRe aeed
B) 21080 f 2eaad
C) qaial 2080 FU204
D) equgien acase

73) In which city was the Earth Summit, 1992 held?

A) Sao Paulo

B) Rio de Janeiro
C) London

D) Brasilia

Tarhnfinnrid In

ey

73) 1992 adeia QIS d¢Q AFRR1 69R 6QE6R AGTS
eLIReIRI ?

A) Qissaiem
B

)
)
)
D) qid@el

74) The Intertropical Convergence Zone ( ITCZ) is the
region that circles the Earth, near the

A) Poles

B) North latitude
C) Horse latitude
D) Equator

74) 285IR1A FREEY, &N ITCZ) Qa9R 694 2ERY ARG
@d g8 ?

A) 6019

)
B) aaa aare
C) ag aarg

)

D) 3g< 6adl

75) How many members can Governor nominate to the
Legislative Council?

A) Half

B) One-third
C) One-fourth
D) One-sixth

75) QIRIDIR @6 RE AR RS AGFe AR FIFS
RRQIR6a?

A

B
C
D

2l

)

) @ gO1ard
) @ 9gelrd
)

NG g]dl



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

LU v au s

Te Ch OfWO rl d . I F,_e]ction 8 - Paperll-Science

76) The thermal radiation from a hot body travels in
vacuum with a velocity of

A) 2 x108m/s

B) 330 m/s

C)3x10°m/s
)

D) 1200 m/s

76) 4 989 999 S TR §RI60 66 @ARIA 690 6298

A) 2 x 108 m/s
B) 330 m/s
C)3x10°m/s
D) 1200 m/s

77) Which among the following options is the first stage of
karyokinesis process of a typical eukaryotic cell?

A) Metaphase
B) Anaphase
C) Telophase
D) Prophase

77) BgeuQ 699 Ged @ ARIGE QRIBEER 6918Q
AIRBEEEEA 9IAIR gaIn adIa?

A) 6919160%

B) aipie0a

)
)
C) ecenieaa

)

D) sgkara

78) A simple pendulum of length 1 m has a bob of mass
100 g. It is diplayed through an angle 60° from the vertical
and then released. The KE. of bob when it passes
through the mean position is

78) 1 §ioq 6344 G58 1@ A0 69gar6a 10097 9ge S8)
604 OFF| 991 A VIFEQ 9@ 60° 6Q18 62R Y9G 6208 9a°

91 960 6Q0IQ 918 21N K9 | 6IEFERER I 60¢ CJES 690
2099 998 6U606R6R YLIa K.E. 6208

A) 0251
B) 101
C)osJ
D)14J

79) The pattern of arrangement of leaves on the stem or
branch of a plant is known as

A) Phyllotaxy
B) Tricarpellary
C) Aestivation
D) Vexillary

79) 492 209 Q18 QI SI¢ 6Q ISER VLA DE FRIAN?

A) Genielq
B) clasiesanial
C) wgseaq
D) cagmial

80) The level of water in a tank is 5 m high. A hole of area
10 cm? is made in the bottom of the tank. The rate of
leakage of water from the hole is (g = 10 m/s?)

A) 104 m¥s

B) 10°m¥s

C) 10° m¥s
)

D) 102 m?¥s

eana s vans
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80) ¥R FIF6R 979 2Q 5 M Q% | FIFa eFalesa 10 cm? @ 83) Select the non-conservational force among the
98 Q6 QAITRI | A8 QEIR ¥ 69IRIR 210 6288 (g = 10 folowhg.
m/s?) A) Frictional force
B) Gravitational force
A) 10- m¥/s C) Electrostatic force between two charges

B) 10: m¥/s D) Spring force

C) 10 m¥/s

D) 10: m?/s 83) F6AI1B FUQ ZG-AQVAIAR P OUR FAG!

81) Two wires A and B have the same length and area of

. ; ; A) Qda Q@
cross-section. But Young's modulus of A is two times the .
Young's modulus of B. Then the ratio of force constant of B) cruiade o
AALOLEES C) 9af I Ax6a FRIYER 9
A) 1/2 D) Ger o7
B) 2
C) V2
D)1 84) Virus is usually composed of a protein coat and
81) A N&° B 90F 01a@ 6344 ¥e° 2999 QI &8 AQ 9] A) Nucleic acid
QEIG Ba 0@ JEIRA QRGEl 6969 A S° B Q06a 99 f) Qg aoki
a0 25916 6208 QS rigacid
D) Lactic acid
A) 1/2
B) 2 84) QIRGQ ARIGASE 6gITE Q6R 3 q 669 61097
C)~2
D)1 A) Qige 29,
B) aqsma g,
82) In which types of plants, strong wocdy stem and deep C) ange 2ig
anchoring roots are usually NOT necessary? :
D) u@e 216,

A) Hydrophytes
B) Epiphytes
C) Xerophytes

85) From the top of a tower, a ball A is dropped and
D) Halophytes another ball B is thrown horizontally at the same time.
Which among the following strikes the ground first?

82) 662 JRINQ AEGER §9 KI0 QIS 8 JR1ag ARSI 6608

A) Simultaneously A and B
GRS ARIDEIGE FEIN?
B) B
C) Depends on the masses
A) AR6RITING D) A
B) wdcriae
C) seeqiiog
D) alsniriag

L PP S

IIA
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85) 4 SIEIQ QUQ 691G S A IR IGIMI 9L° QRIS AAAER 2R

U@ GR B Q0IQIR QI96a TeH SRl | 6QgER FQ 6996 gaea
pfiea age?

A) @ drIgea A 9e° B
B) B

C) 9gq ag6a H6ia 96Q
D) A

86) Blue Green Algae belongs to the group of prokaryotes
and is also known as

A) Cyancbacteria
B) Pseudomonas
C) Lactobacillus

D) Actinobacteria

86) 91% 49% 681 (L9197 2INCH) 67INIREIA 6aITIR 2 6
il Q6 A1 K&l |

A) auisRIeyisael
B) geeisainia
C) aueqeidng
D) 21gsaIeieaaal

87) Which microorganism produces statins that are
commercialised as blood-cholestrol lowering agents?

A) Lactobacillus

B) Acetobacter aceti

C) Monascus purpureus
D) Aspergillus niger

87) 604 QIF1R 9I5E G2IR F6Q UI2! ABEQ 6RIERER AR
6RS BI6R MRUINTE BEER SISTIQ FAILN?

A) QIEQRIIRa
B) «decicuiqa 435
C) srieead adaed

D) 2190379 FIRea
T

v |l il e el esll| e

88) The fungus Aspergillus Niger is a type of mould
producing which one of the following acids?

A) Carboxylic Acid
B) Oxalic Acid

C) Butyric Acid

D) Citric Acid

88) 2ICHEING FINGE AR 6208 IR gRI0Q O QI F9RQ
66l 2¢] G218 eGeIna?

A) QBRITAS 21,
B) zaeme ag)
C) guae 21e)
D) ciega &g}

89) The reactions in which two or more substances
combine to form a single substance are termed as

A) Displacement reactions

B) Double displacement reactions

C) Combination reactions
D) Decomposition reactions

89) 9@ QI 2@ aaid A8 69T aald 6eQla 9RRAIR e
9ol @aIdNg?

A) Jgiae 95Tl

B) 690 GaIae 95a @
C) areage goqal
D) zoaes gogal

90) Which of the following options is INCORRECT
regarding "prevention of rusting iron articles"?

A) It should be oiled and greased
B) It should be galvanized

C) It should be painted

D) It should be immersed in water
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90) "R2l FASCEREa S MITS CARAI" AHAER FANIQ 68Q
Qags gm?

A) 92J6Q 60m B TR RG] 2IENR
B) 921§ dNIRLIAS KA 2IQaYR
C) g6 er QTR 2N

D) 91 9idi6cq 90IR Q¥R 2IQdie
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Question Paper No: 53665 101

Answer Key
1. B 31. A 61. A
2: € 2322 B € A
3. D 35 € 63.C
4. D 34.C 64. C
5. D 35.A 65.D
6. B 36. D 66. C
7. A 371.A 67.B
8. D 38.D 68. A
9. D 39.B 69.B
10. D 40. D 70. A
11. .1 41, 1) 7LD
12.B 42.B 72. B
13. D 43.B 73.B
14. A 44. A 74. D
15. A 45.B 75.D
16. A 46. A 76. C
17.C 47. € 7. D
18. C 48. C 78. C
19. D 49. C 79. A
20 A 50. D 80.D
21.€C 51 € 81. B
22. A 52. A 820 A
23. D 53. € 83. A
24. A 54. C 84. A
25. B 55. A 85. A
26. B 56. C 86. A
2D 57.W 87 C
28. B 58. A 88.D
29. B "'59.B 89. C
30. C 60. D 90. D
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